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1. Introduction
Currently, we assumed SFN is sent by P-BCH. However, SFN by P-BCH needs high cost. Therefore, we would like RAN2 to discuss the feasibility of SFN sent by SU-1. 
2. Discussion
SFN is used for the following purposes;

· DRX reference

· RACH, especially in the cae of 1.25MHz (TBD)

· BCCH cycle reference

· Paging

· Reference for frequency hopping (TBD)

· Timing for L1/L2 control channel

· CQI and sounding reference allocation

Currently, we assume SFN is sent by P-BCH. However, sending SFN by P-BCH needs high cost. 
· P-BCH could be transmitted either 10ms or 20ms (FFS in RAN1)

· Transmitting SFN should be very reliable, which means 10-12bits information would required much L1 coded bits

· More enhanced P-BCH reception mechanism could be used if SFN is not sent by P-BCH

For efficient radio resource use, we propose RAN2 to consider SFN sent by SU-1 instead of P-BCH. 

Non-mobility:

For RRC connected mode UEs, it is natural assumption that the UE already knows SFN of the serving cell. 

For RRC idle mode UEs, all procedures indicated for RRC idle mode UEs above should read SU-1 in advance to know related system information. 

Mobility:

For RRC connected mode UEs, there would be problematic in HO, e.g. detection of RACH transmission frame in 1.25MHz if RACH channel is not assigned every frame. 
However, it could be simply solved if the UE is able to detect SFN LSB’s from a single P-BCH reception. E.g. if P-BCH TTI is 40ms with a (re)transmission every 10ms, will the UE be able to detect which (re)transmission (0,1,2,3) it receives when it receives a single P-BCH transmission? 
If feasible, the UE can detect RACH transmission frame by simple mapping rule to P-BCH transmission. 

For RRC idle mode UEs, we assume there is no difference as non-mobility case. 

3. Proposal
We would welcome if RAN2 could:
1) Send LS to RAN1 to ask if the UE is able to detect which (re)transmission (0,1,2,3) it receives when it receives a single P-BCH transmission
2) Discuss and decide whether to send SFN based on the response from RAN1 to RAN2 on LS mentioned above. 






















































































































































